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3b. 9/ = 6.5, 3 = 4cm

3c.gr™ar=10.5 cm, 3T = 8cm

grferer feoca Pepiomr 3= aner -
40. 899% = 420m?2 , 91T = 60cm

4b. &% = 1600m?2, 9r—IT = 8cm
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5. @ifod oear Bevmar arr ever
50. 89%e = 300cm?, 3= = 7.5cm

5b. &% = 3.6m2 ;3™ = 1.8m
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AB =24m, BC =26m, CD =16m, EF =28m ,BE = 30m
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HATT 4:

dmRifeldr 3T a1
9. AT feetedT 3MFclid FET AT geidel 31MRd, cAraws [ |ABCD o &14%as lal

AB=40m ,DC =60m ,BT=13m ,AD =9m
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10. el s@sr &1 eer
PA =30m ,AQ = 50m ,AB = 30m , BC = 30m, CS = 60m ,BT= 30 m, CS = 60m

MHSB - 8 — 31foI: 8 9%es - 15 qret:6



